2x—1
3

@ 3

3x
>

-5= W

@ 4

=

=

sk A5 xo) AGE?

® 5 @ 6



1<}

5]

olJ

ol

ol
(NII

@ 15 ® 33

® 3

® -33



A ok AFgoflA el 10000 Q1 S JNEJY M- A= 15% T2l
Sto 4 = Qlck. EfYl A olA] F-dsHH 2 H=of Aglo] vl
2713500 9 o2 dHT o, A H o|4f Afofol= A9 Qe
ML o] gst= Zlo] FEsh?

~

O 3 A oA @ 4@ oA ® 59 oA

@ 64 oA ® 748 oA

0.



ghA]o]u] hitel 4] A]2-E ghle] 1504 Abel Felste] Bfgit
sto] AFS 7} Eo] £ ot A7 1504 Atk AAL L

1_% HE=E T
A7) Slel 673 Lhrol ZlH U Aol di, 1044 L
FAEY Ado] 5k, Zo] AR AF s = E PRIZE?

D 159 ® 181 ® 307 @ 437 ® 547



